NOTICE OF PUBLIC HEARING

**READVERTISEMENT

Placard Posting Date: **November 29, 2019
Protest Petition Deadline: **January 13, 2020
Roll Call Hearing Date: **January 27, 2020
Protest Hearing Date: **March 18, 2020

License No.: ABRA-115533 Licensee: Mr. Chen's. Inc. Trade Name: Mr. Chen's

License Class: Retailer's Class "C" Restaurant
Address: 3419 Connecticut Avenue, N.W.
Contact: Rita Hardy: (202) 327-3497

WARD 3 ANC 3C SMD 3C04

Notice is hereby given that this licensee has applied for a new license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the Roll Call Hearing date on **January 27, 2020 at 10 a.m., 4th Floor, 2000 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline. The Protest Hearing date is scheduled on **March 18, 2020 at 1:30 p.m.

NATURE OF OPERATION

A new class C Restaurant serving organic Chinese cuisine. Seating Capacity of 70 and a Total Occupancy Load of 80.

HOURS OF OPERATION AND HOURS OF ALCOHOLIC BEVERAGE SALES, SERVICE, AND CONSUMPTION INSIDE OF THE PREMISES

Sunday 12pm - 10pm, Monday through Thursday 11am - 10:30pm, Friday and Saturday 11am - 11pm

NOTICE OF PUBLIC HEARING

Placard Posting Date: November 29, 2019
Protest Petition Deadline: January 13, 2020
Roll Call Hearing Date: January 27, 2020
Protest Hearing Date: March 18, 2020

License No.: ABRA-115588
Licensee: Chopsmith LLC
Trade Name: Chopsmith

License Class: Retailer's Class "D" Restaurant

Address: 11 District Square, S.W.

Contact: Brianna Keefe: (202) 484-5200

WARD 6 ANC 6D SMD 6D04

Notice is hereby given that this licensee has applied for a new license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the Roll Call Hearing date on January 27, 2020 at 10 a.m., 4th Floor, 2000 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline. The Protest Hearing date is scheduled on March 18, 2020 at 4:30 p.m.

NATURE OF OPERATION

A new Retailer's Class D Restaurant with a seating capacity of 27 and a Total Occupancy Load of 66. Sidewalk Café with 12 seats.

HOURS OF OPERATION AND ALCOHOLIC BEVERAGE SALES, SERVICE, AND CONSUMPTION FOR INSIDE PREMISES AND OUTSIDE IN SIDEWALK CAFÉ

Sunday through Saturday 10am – 11pm

NOTICE OF PUBLIC HEARING

**READVERTISEMENT

Placard Posting Date: **November 29, 2019
Protest Petition Deadline: **January 13, 2020
Roll Call Hearing Date: **January 27, 2020
Protest Hearing Date: **March 18, 2020

License No.: ABRA-115606 Licensee: Laxmi DC, LLC

Trade Name: CHASQA

License Class: Retailer's Class "C" Restaurant 2332 Wisconsin Avenue, N.W. Contact: Dawa Tamang.: (202) 827-4904

WARD 3 ANC 3B SMD 3B02

Notice is hereby given that this licensee has applied for a new license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the Roll Call Hearing date on **January 27, 2020 at 10 a.m., 4th Floor, 2000 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline. The Protest Hearing date is scheduled on **March 18, 2020 at 1:30 p.m.

NATURE OF OPERATION

A new Retailer's Class C Restaurant with a seating capacity and Total Occupancy Load of 146.

<u>HOURS OF OPERATION AND ALCOHOLIC BEVERAGE SALES, SERVICE, AND CONSUMPTION</u>

Sunday through Thursday 11am – 12am

NOTICE OF PUBLIC HEARING

**RESCIND

Placard Posting Date: **November 8, 2019
Protest Petition Deadline: **December 23, 2019
Roll Call Hearing Date: **January 6, 2020
Protest Hearing Date: **February 26, 2020

License No.: ABRA-115533 Licensee: Mr. Chen's. Inc. Trade Name: Mr. Chen's

License Class: Retailer's Class "C" Restaurant
Address: 3419 Connecticut Avenue, N.W.
Contact: Rita Hardy: (202) 327-3497

WARD 3 ANC 3C SMD 3C04

Notice is hereby given that this licensee has applied for a new license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the Roll Call Hearing date on **January 6, 2019 at 10 a.m., 4th Floor, 2000 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline. The Protest Hearing date is scheduled on **February 26, 2020 at 1:30 p.m.

NATURE OF OPERATION

A new class C Restaurant serving organic Chinese cuisine. Seating Capacity of 70 and a Total Occupancy Load of 80.

HOURS OF OPERATION AND HOURS OF ALCOHOLIC BEVERAGE SALES, SERVICE, AND CONSUMPTION INSIDE OF THE PREMISES

Sunday 12pm - 10pm, Monday through Thursday 11am - 10:30pm, Friday and Saturday 11am - 11pm

NOTICE OF PUBLIC HEARING

**RESCIND

Placard Posting Date: **November 15, 2019
Protest Petition Deadline: **December 30, 2019
Roll Call Hearing Date: **January 13, 2020
Protest Hearing Date: **March 4, 2020

License No.: ABRA-115606 Licensee: Laxmi DC, LLC

Trade Name: CHASQA

License Class: Retailer's Class "C" Restaurant 2332 Wisconsin Avenue, N.W. Contact: Dawa Tamang.: (202) 827-4904

WARD 3 ANC 3B SMD 3B02

Notice is hereby given that this licensee has applied for a new license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the Roll Call Hearing date on **January 13, 2020 at 10 a.m., 4th Floor, 2000 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline. The Protest Hearing date is scheduled on **March 4, 2020 at 1:30 p.m.

NATURE OF OPERATION

A new Retailer's Class C Restaurant with a seating capacity and Total Occupancy Load of 146.

<u>HOURS OF OPERATION AND ALCOHOLIC BEVERAGE SALES, SERVICE, AND CONSUMPTION</u>

Sunday through Thursday 11am – 12am